

Summary of Bids Received

Project: Gages Lake Road Guardrail Installation

Section: 18-00091-06-GM

Description: Guardrail installation from Gagewood Court to Hunt Club Road

CPMS Pin: B-01435 **Let Date:** 8/14/2018

Engineer's Estimate						
				\$63,487.00		
Design IDOT(2)	Contract Bidder	SI	ES then Plan Rack		
Finance Bid Ta	ıb File	Resident Eng.	A	dministrative Assis	stant	
Construction Project	ct File	Request By Mail	N	lgr Capital Progran	nming	



Return Bid Tabulation

Project: Gages Lake Road Guardrail Installation

Section: 18-00091-06-GM

Description: Guardrail installation from Gagewood Court to Hunt Club Road

CPMS Pin: B-01435 **Let Date:** 8/14/2018

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Campanella 8	& Sons, Inc.	Copenhaver Construction		
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
1	20200100	EARTH EXCAVATION	89.0	CU YD	\$110.00	\$9,790.00	\$140.35	\$12,491.15	\$105.00	\$9,345.00	
2	21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	91.0	SQ YD	\$8.00	\$728.00	\$11.00	\$1,001.00	\$15.00	\$1,365.00	
3	25000210	SEEDING, CLASS 2A	0.1	ACRE	\$15,000.00	\$1,500.00	\$38,500.00	\$3,850.00	\$3,000.00	\$300.00	
4	25000400	NITROGEN FERTILIZER NUTRIENT	2.0	POUND	\$10.00	\$20.00	\$1.10	\$2.20	\$1.00	\$2.00	
5	25000600	POTASSIUM FERTILIZER NUTRIENT	2.0	POUND	\$10.00	\$20.00	\$1.10	\$2.20	\$1.00	\$2.00	
6	25200200	SUPPLEMENTAL WATERING	2.0	UNIT	\$40.00	\$80.00	\$1.10	\$2.20	\$0.01	\$0.02	
7	35101400	AGGREGATE BASE COURSE, TYPE B	2.0	TON	\$12.00	\$24.00	\$924.50	\$1,849.00	\$200.00	\$400.00	
8	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	53.0	TON	\$110.00	\$5,830.00	\$260.70	\$13,817.10	\$285.00	\$15,105.00	
9	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	55.0	TON	\$110.00	\$6,050.00	\$253.90	\$13,964.50	\$292.00	\$16,060.00	
10	48101500	AGGREGATE SHOULDERS, TYPE B 6"	14.0	SQ YD	\$12.00	\$168.00	\$175.00	\$2,450.00	\$60.00	\$840.00	
11	63000001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS	62.5	FOOT	\$45.00	\$2,812.50	\$38.95	\$2,434.38	\$35.00	\$2,187.50	
12	63000370	LONG-SPAN GUARDRAIL OVER CULVERT, 25 FT SPAN	87.5	FOOT	\$75.00	\$6,562.50	\$38.95	\$3,408.13	\$61.00	\$5,337.50	
13	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	4.0	EACH	\$4,000.00	\$16,000.00	\$3,175.00	\$12,700.00	\$3,900.00	\$15,600.00	
14	LC200051	REJECTED LOAD TRANSPORTATION	2.0	LOAD	\$250.00	\$500.00	\$230.00	\$460.00	\$100.00	\$200.00	
15	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	557.0	UNIT	\$1.00	\$557.00	\$1.00	\$557.00	\$1.00	\$557.00	
16	LC782000	GUARDRAIL REFLECTORS	14.0	EACH	\$35.00	\$490.00	\$12.00	\$168.00	\$100.00	\$1,400.00	
17	X2511630	EROSION CONTROL BLANKET (SPECIAL)	91.0	SQ YD	\$5.00	\$455.00	\$16.50	\$1,501.50	\$10.00	\$910.00	

	Bid Total			\$63,487.00		\$80,732.35		\$111,471.02
19	XX006729 PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	460.0 FOOT	\$15.00	\$6,900.00	\$9.90	\$4,554.00	\$6.00	\$2,760.00
18	X7010216 TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0 L SUM	\$5,000.00	\$5,000.00	\$5,520.00	\$5,520.00	\$39,100.00	\$39,100.00



Return Bid Details

Project: Gages Lake Road Guardrail Installation

Section: 18-00091-06-GM

Description: Guardrail installation from Gagewood Court to Hunt Club Road

CPMS Pin: B-01435 **Let Date:** 8/14/2018

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20200100	EARTH EXCAVATION	89.0	CU YD	\$110.00	\$9,790.00	\$105.00	\$140.35	\$122.68
2	21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	91.0	SQ YD	\$8.00	\$728.00	\$11.00	\$15.00	\$13.00
3	25000210	SEEDING, CLASS 2A	0.1	ACRE	\$15,000.00	\$1,500.00	\$3,000.00	\$38,500.00	\$20,750.00
4	25000400	NITROGEN FERTILIZER NUTRIENT	2.0	POUND	\$10.00	\$20.00	\$1.00	\$1.10	\$1.05
5	25000600	POTASSIUM FERTILIZER NUTRIENT	2.0	POUND	\$10.00	\$20.00	\$1.00	\$1.10	\$1.05
6	25200200	SUPPLEMENTAL WATERING	2.0	UNIT	\$40.00	\$80.00	\$0.01	\$1.10	\$0.56
7	35101400	AGGREGATE BASE COURSE, TYPE B	2.0	TON	\$12.00	\$24.00	\$200.00	\$924.50	\$562.25
8	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	53.0	TON	\$110.00	\$5,830.00	\$260.70	\$285.00	\$272.85
9	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	55.0	TON	\$110.00	\$6,050.00	\$253.90	\$292.00	\$272.95
10	48101500	AGGREGATE SHOULDERS, TYPE B 6"	14.0	SQ YD	\$12.00	\$168.00	\$60.00	\$175.00	\$117.50
11	63000001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS	62.5	FOOT	\$45.00	\$2,812.50	\$35.00	\$38.95	\$36.98
12	63000370	LONG-SPAN GUARDRAIL OVER CULVERT, 25 FT SPAN	87.5	FOOT	\$75.00	\$6,562.50	\$38.95	\$61.00	\$49.98

13	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	4.0	EACH	\$4,000.00	\$16,000.00	\$3,175.00	\$3,900.00	\$3,537.50
14	LC200051	REJECTED LOAD TRANSPORTATION	2.0	LOAD	\$250.00	\$500.00	\$100.00	\$230.00	\$165.00
15	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	557.0	UNIT	\$1.00	\$557.00	\$1.00	\$1.00	\$1.00
16	LC782000	GUARDRAIL REFLECTORS	14.0	EACH	\$35.00	\$490.00	\$12.00	\$100.00	\$56.00
17	X2511630	EROSION CONTROL BLANKET (SPECIAL)	91.0	SQ YD	\$5.00	\$455.00	\$10.00	\$16.50	\$13.25
18	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$5,000.00	\$5,000.00	\$5,520.00	\$39,100.00	\$22,310.00
19	XX006729	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	460.0	FOOT	\$15.00	\$6,900.00	\$6.00	\$9.90	\$7.95
	Bid Total					\$63,487.00			